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height'v

0 width

def red(img):
width = img.getWidth()
height = img.getHeight()
for y in range(0, height):
for x in range(0, width):
img.setPixel(x, y, [255,0,0])
if y % 10 == 0:
img.update()



@ slc2.gif

height//2 Y

def redTopHalf(img):
width = img.getWidth()
height = img.getHeight()
for y in range(0, height//2):
for x in range(0, width):
img.setPixel(x, y, [255,0,0])
if y % 10 == 0:
img.update()



® slc2.gif
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0 width//2

def redLeftHalf(img):
width = img.getWidth()
height = img.getHeight()
for y in range(0, height):
for x in range(0, width//2):
img.setPixel(x, y, [255,0,0])
if y % 10 == 0:
img.update()



® slc2.gif
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def redBottomHalf (img):
width = img.getWidth()
height = img.getHeight()
for y in range(height//2, height):
for x in range(0, width):
img.setPixel(x, y, [255,0,0])
if y % 10 == 0:
img.update()



height \

s
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def redRightHalf(img):
width = img.getWidth()
height = img.getHeight()
for y in range(0, height):
for x in range(width//2, width):
img.setPixel(x, y, [255,0,0])
if y % 10 == 0:
img.update()



def redSwW(img):
width = img.getWidth()
height = img.getHeight()
for y in range(0, height):
for x in range(0, y):
img.setPixel(x, y, [255,0,0])
if y % 10 == 0:
img.update()



M)

def redNE(img):
width = img.getWidth()
height = img.getHeight()
for y in range(0, height):
for x in range(y, width):
img.setPixel(x, y, [255,0,0])
if y % 10 == 0:
img.update()



height \/

def redNW(img):
width = img.getWidth()
height = img.getHeight()
stop = width
for y in range(0, height):
for x in range(0, stop):
img.setPixel(x, y, [255,0,0])
stop = stop - 1
if vy $ 10 == 0:
img.update()



height Y

def redSE(img):
width = img.getWidth()
height = img.getHeight()
start = width
for y in range(0, height):
for x in range(start, width):
img.setPixel(x, y, [255,0,0])
start = start -1
if vy $ 10 == 0:
img.update()



“Soften” Function (Lab exercise #14)
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Problem!
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Solution: Just Skip the Boundary Pixels

1 width-2
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height-2




“Charcoal” Transformation

average of R, G, B values

01234567 ...

125 126 1271128 129 130

253 254 255

black
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white




“Posterize2” Transformation

n

01234567 ...

125 126 1271128 129 130

253 254 255
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N
192




“Posterize3” Transformation

n

012345 ...83 84
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254 255
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“Posterize4” Transformation

n
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